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Monthly averaged wind velocity by MF radar at Tromsoe for November 2017
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mean sigma = 22.197

100 F E|

50;* W =

oMby b ! Sl

-50F W J\/\/ E

-100E Bl

0 4 8 12 16 20

100

mean sigma = 21.233

a o
o O

5
S o

© [rrrrEeprTTT T
£

mean sigma = 20.968

20

o

100
50

-50

b

mean sigma = 20.924

20

o

100
50

-50

mean sigma = 19.860

20

o

a o
o O O
aian © T ° Fr

&
S

mean sigma = 19.223

20

o

a o
o O

&
S o

© I
£

mean sigma = 18.607

20

o

a o
o O

5
S o

© [rrrrrTgrrT
£

20

o

106km

103km

100km

97km

94km

91km

88km

85km



Monthly averaged wind velocity by MF radar at Tromsoe for November 2017
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mean sigma = 17.902
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